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QUESTION 1

An organization has a number of virtual machines that would benefit from Fault Tolerance. These include: A single
vCPU Apache Server A dual vCPU vCenter Server A quad vCPU SQL Server An eight vCPU Hadoop Server

Which two virtual machines can be configured to use VMware Fault Tolerance? (Choose two.)
A. Apache Server

B. vCenter Server

C. SQL Server

D. Hadoop Server

Correct Answer: AC

Apache server and SQL server can be configured to use VMware fault tolerance. Reference:
https://kb.vmware.com/selfservice/microsites/search.do? language=en_USandcmd=displayKCandexternalld=1013428

QUESTION 2

Which two actions are prerequisites to adding ESXi 6.x hosts to a vSphere Distributed Switch? (Choose two.)
A. Verify that there is at least one Distributed Port Group on the Distributed Switch.

B. Verify that the Distributed Port Group have active uplinks configured in its teaming and failover policy.
C. Verify that the Distributed Switch has been configured with a Network Profile.

D. Verify that Network I/O control for Management Traffic is configured for the highest share value.
Correct Answer: AB

To manage the networking of your vSphere environment by using a vSphere Distributed Switch, you must
associate hosts with the switch. You connect the physical NICs, VMkernel adapters, and virtual machine
network adapters of the hosts to the distributed switch.

Prerequisites

Verify that enough uplinks are available on the distributed switch to assign to the physical NICs that you
want to connect to the switch.

Verify that there is at least one distributed port group on the distributed switch.

Verify that the distributed port group have active uplinks configured in its teaming and failover policy.
Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic=%

2Fcom.vmware.vsphere.networking.doc%2FGUID-E90C1B0D-82CB-4A3D-BE1B-0FDCD6575725.html
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QUESTION 3

A company has decided to implement Virtual SAN within their vSphere 6.x environment. The Virtual SAN cluster will be
composed of three ESXi 6.x hosts that are on the Virtual SAN Ready Node list.

Each ESXi host includes: Two SAS Controllers that support Passthrough Mode Four Solid State Drives (SSDs) 1TB in
size each 20 SAS Magnetic Disks (MDs) 1TB in size each The SSDs and MDs are evenly split between the two SAS
controllers

The company will pilot a Virtual SAN cluster utilizing VMware best practices while maximizing storage capacity. The
Virtual SAN cluster will use Manual Mode.

Which two Disk Group configurations would meet the stated configuration requirements? (Choose two.)

A. 4 disk groups with 1 SSD and 5 MDs each

B. 2 disk groups with 1 SSD and 7 MDs each

C. 2 disk groups with 2 SSDs and 7 MDs each

D. 2 disk groups with 1 SSD and 10 MDs each

Correct Answer: AB

4 disk groups with 1 SSD and 5 Mds each and 2 disk groups with 1 SSD and 7 Mds each can meet the configuration

requirements in the scenario. Reference: https://pubs.vmware.com/vsphere-60/topic/com.vmware.ICbase/PDF/virtual-
san-60administration-guide.pdf

QUESTION 4

An administrator logs into the vSphere Web Client, but is unable to see any hosts and clusters.
Which two options could fix the problem? (Choose two.)

A. Verify that the client web browser and vCenter Server are in the same broadcast domain.

B. Verify that the vCenter Server system is registered with the same Platform Services Controller as the vSphere Web
Client.

C. Log in to the vCenter Server as a user within the Active Directory domain.

D. Log in to the vSphere Web Client as a user with permissions on the vCenter Server system.

Correct Answer: BD

Log in to the vSphere Web Client as a user with permissions on the vCenter Server system.Verify that the vCenter

Server system is registered with the same Platform Services Controller as the vSphere Web Client. Reference:
https://kb.vmware.com/selfservice/microsites/search.do? language=en_USandcmd=displayKCandexternalld=2113917

QUESTION 5
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Which two networking connection types can be configured on a virtual switch? (Choose two.)
A. Virtual machine portgroups

B. VMkernel services (such as NFS, iSCSI, or vMotion) to the physical network

C. Web services over the Management Network

D. NFS and FCoE storage services

Correct Answer: AB

Virtual machine portgroups and Vmkernel services can be configured on a virtual switch. Reference:
https://www.vmware.com/files/pdf/virtual_networking_concepts.pdf
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